C-2027
C-2032
C-2037
C-2037
C-2049
C-2050
C-2067
C-2074
C-2075
C-2085
C-2086
C-2087
C-2141
C-2142
C-2293
C-2394
C-2395
C-2409
C-2410
C-2577
C-2944
C-4021
C-4025
C-4128-A
C-4460
C-4507
CC-4035
C-4652
C-6036

#101
#102

#13 Nut pocket

#18 Nut pocket

Chain bar, right hand

Chain bar, left hand

Chain adjustment pin

Crack adjustment screw

Top chain sprocket, w 20 teeth
Sprocket idler shaft

Knockout rod screw and nut
#11 Nut pockets

#15 Nut pockets

#11/13 tongue casting

Feed chain wrench

Nut pocket wrench

Stationary die knockout rod tip
Chain adjustment nut
Stationary die knockout rod sleeve
Stationary die knockout rod spring
Chain yoke spring

Die rack spring wrench

Chain yoke washer

Lower chain bracket

Lock pin

Stationary die knockout rod
#15/18 tongue casting

Drive pulley (pressed steel)
Line shaft drive pulley

Feed chain assembly (less nut pockets)

Chain yoke

1/3 HP master motor, 110-220 volt
Motor pulley

]

!

#103

#104
#105
#106
#107
#108
#109
#110
#111
#112
#113
#114
#115
#116
#117
#118
#119
#120
#121
#122
#123
#124
#125
#126
#127
#128
#129
#190
#191

#192
#194

Motor switch box

Motor switch and fuse box
15 Amp fuse

Motor cord clamp

Motor pulley key

V belt

Motor cord (14/3 wire)

Motor cord male plug (3 prong)
5/16" x 1-1/2" socket head cap screw
3/8’" x 1-1/2"" hex cap screw

3/8" x 2" hex head cap screw

3/8" x 1" hex head cap screw

3/8" x 1-1/2" square head set screw
3/8"" x 1/2" square head set screw
5/16"' x 1-1/2"" dowel pin

1-1/4" x 1" x 1-3/4" bronze bushing
3/8"" S A E lock nut

#7 x 2 taper pin

Oil pipe, 8" long

Street ell

Qil pipe, 2-1/4” long

Qil pipe. 1-1/4” long

Oiler

Chain spring clip link

Chain pin link connector

Chain section

Chain pin link

4-1/4" oil line

4" oil line

45° L

516" x 3/4" dowel pin




